13p3H-3  FERErEl = AL VCESGERY A L 7 « T — A2k

www_Grammat icalPhvsics.ac 1 AR — FHIHf—
Solution for The Hew Grammar ¥Yersion of Schrodinger Equation

Yuuichi Uda

2009 FFAZ0pSF-8TRICEC, KL L TERSHEEZI DL,

BCESPOFRMCENINIH @M EDII TEALGEL, ChE
o icehic, Shld., FRDEBCHIGL TWSIBE5FEZ 5. Fil
Z0=t=TTHERL, t=08t-TAR—OERIZE 94, R 2L 7
« AR (HEPRFEZ200TFEEFZAE2805L-11) (1, ¥-00I155

bk 1 i—— $Lx(O-g)]1-P[x]
£—0 &

—j‘ [ :f(t)]zq}[ﬂ

x(t—g) £ =t=T

cicl [x(O-g)1(t)=
x(t—+T) 0=t=¢

EEFL, BWa, P CnIECHT LB THLETEEZHLI.
dLx]1= z f . bLxD - @lxD"
n:

a[x]z%j; dt x () cos (Lt )
| b[I]E%J‘; dt x (1) sin(ZEt)
r d"; fo) + ZE20 4 £+ 21, () =
et ETHM (n+1)1(n+2)- cir fpiiv)
2
g = ddyz TS
ZREam ] s

L - it S T ¥ 1:n+] (y) (n=1)



